(\;' E I I I | I I I | I I I |E
8 B ptTtbar (ATLAS semileptonic ttbar) ]
B — p—
2 L _
_'_,r-‘Hlo — -
g - -
& " m m
- [ —
g 107° E 3
- E -
© — B
('\Ib i |
C10™* & 3
105 & ®m ATLAS N =
— --3-- Herwig 7.2.1 default R —
— —&— Pythia 8.308 default ]
L ¢ Sherpa 2.2.0 default A —
10° £ E
- I R T IS =
:l T T | T T T | T T T | T T T |:
2 & -
" — m
< — —
| - ]
|_
k B ]
e 1
© n
= B |
m — —
05 3 g
| ] ] |\\\ ] ] 1 | Lo 4--’ | | ] ] ] |
0 200 00 600 800

13000 GeV pp
| I I I |

4
p'i)ar{t}[ G

eV], m

" in [400,550] [GeV]

Rivet 3.1.10, = 400k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


